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Schemat 2.7.5/I1. Odbiornik radiowy ,Podhale” produkowany od sierpnia 1958 roku
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Schemat 2.7.5/II. Odbiornik radiowy ,Podhale” produkowany od sierpnia 1958 roku

Cl — KSf —24 pF +10"%—125 V

Cs — KSf — 910 pF = 5% — 125 V

Cy — KSf — 120 pF 5% — 125 V

Cs — KSf — 68 pF 5% — 125 V

C; — KSO — 2 — 500 — B — 510 pF — II
Cy, Cy — KSO — 5 — 500 — A — 1000 pF — III
Cip — KRC —1la—M — 24 — 11

Cyy — KSO — 2 — 500 — B — 510 pF — II
Cip—KRC—1la— M —24 —1

Cy3 — KSO — 5 — 500 — B — 2400 pF — II
Cyqy — KSO — 5 — 500 — B — 1000 pF — II
Cy5 — KSf — 51 + 50/ — 125 V

Ciy — KSf — 100 pF * 2/0 — 125 V

Cyy — KSf — 68 pF + 5%y — 125 V

Cyy — KSf — 1500 pF * 20/y — 250 V

Cay, Coqg — KSf — 24 pF + 20 — 125 V
Cyy — KSf — 480 pF * 2"/y — 125 V

Cyy — KSf — 280 pF * 20/ — 125 V

Cy3 — KSf — 200 pF 5" — 125 V

Cyq — KSf — 24 pF *+ 20 — 125 V

Cyy — KSf — 100 pF + 20/ — 250 V

Cy9 — KSf — 200 pF + 20° — 250 V

Cy49 — KSf — 51 pF + 20 — 500 V

Cyqy — KR — 0,1 uF £ 20y — 500 V

C42, C43 — KSf — 200 pF + 200y — 125V
Cyq4 — KSf — 510 pF £ 10% — 125 V

Cy5 — KSf — 150 pF £ 5% — 125 V

Cy¢ — KSf — 1500 pF + 5% — 250 V

Cy47 — KSf — 2000 pF + 5% — 250 V

C4g — KSf — 20000 pF * 50/ — 250 V

Cyy — KR — 0,1 uF * 20%0 — 500 V

Csy, C51 — KSf — 200 pF + 2% — 125 V
Cs2 — KR — 0,1 uF * 200 — 500 V

Csy, Cs4 — KR — 0,05 uF *+ 200/ — 250 V

C55, C5‘; — KRe — 0,02 !.lF + 2090 — 500 V

Cs; — KSf — 16 pF * 20% — 125 V

Csy — KSf — 24 pF £ 20% — 125 V

Cgp — KR — 0,5 uF £ 20%p — 250 V

Cg1, Co2 — KSf — 200 pF * 20/ — 125 V

Cgy — KSE — 200 pF +10% — 125 V

Cgqy — KRe — 20000 pF * 20y — 500 V

Cgs — KR — 0,1 uF * 20° — 500 V

Cgs — KE — 32 uF — 400/450 V

C¢7 — KR — 0,5 uF * 20/ — 500 V

Coy —IKR '— 0,1 uF '+ 209/ — 250 'V

Cgy, C79 — KE-2 X 32 uF — 400/450 V

C7y — KSf — 1000 pF + 109/ — 500V

Cq3 — KRC — la D-16-I1I

C74 — KRe — 20000 pF + 20% — 500 V

C;5 — KR — 20000 pF *+ 20%/p — 500 V

C76 — KR — 0,5 uF £ 209/ — 250 V

Cq7 — KSf — 200 pF + 20 — 125 V

Cyi — KR — 3000 pF + 109 — 250 V

Cys — KM-2-1I1 100 pF — 500 V

C3, Cg, Cy7, Crg, Ca23, Cas, Ca7, Cag, C1s, Crg,
Kondensatory wyré6wnawecze (trymery) 6 ...30 pF
Cy5; — Kondensator wyré6wnawczy 2--8 pF

Ry — OWS — III — 1,0 W — 33 kQ + 10% — B
Ry — OWS — III — 0,25 W — 220 Q + 10°% — B
Ry — OWM — 0,1 W — 820 kQ +10%

R4y — OWS — III — 0,25 W — 56 kQ t 10% — B
R; — OWSM — 0,1 W — 22 kQ * 10

Ry — OWM — 0,1 W — 47 kQ * 10%

Ry— OWM — 0,1 W — 1 MQ * 20"/

Ry — OWM — 0,1 W — 47 kQ + 10%

Ryy — OWM — 0,1 W — 100 kQ + 20%/a

z Trusz wyd. Il, str 89

Ryy — OWS — III — 1,0 W — 33 kQ + 10% — B
Ryg — OWS —III — 1,0 W — 22 kQ * 109 — B
Ry — OWM — 0,1 W — 10 kQ * 10%

Ry — OWM — 0,1 — W — 100 kQ + 10%

Rys Rig— P-1 MQ — A — 0,5 W O 51 F
Ry7 — OWM — 0,1 W — 510 kQ + 5%
Riy — P-1 MQ — C — 0,5 W O% 58 K
Rig— OWS = I11'— 20 W — 33 k@ + 1

Rgg — OWS 56 TIT — 1,0 W — 15 kQ + 10%s — B
Ra; — OWM — 0,1 W — 470 kQ + 10%

Ryp — OWM — 0,1 W — 2,2 MQ + 20%

Ray, Rog — OWS—II1—0,25 W—3,3 MQ+20/—B
Ras — OWM — 0,1 W — 1 MQ + 10%

Ry — OWM — 0,1 W — 3,3 MQ * 10%

Rs7 — OWM — 0,1 W — 620 kQ + 5%

Ryy — OWM — 0,1 W — 47 kQ + 20%

Rsy — OWS — III — 0,25 W — 220 kQ * 10% — B
Ryp — OWS — III — 0,25 W — 1 MQ * 10% — B
Ry — OWS — III — 0,5 W — 100 kQ + 20% — B
Ry» — OWM — 0,1 W — 220 kQ + 10%

Ryy — OWM — 0,1 W — 100 kQ + 10%

Ryy — OWM — 0,1 W — 680 kQ + 20%

Rys — OWS — III — 2,0 W — 10 kQ £ 5% — B
Ry — QWS — IIT — 20 W — 10 kQ + 5% — B
Ry; — OWS — III — 0,5 W — 100 kQ * 10% — B
Ryy, C39 — OWM — 0,1 W — 1 MQ + 10%

Ry — OWS — III — 2,0 W — 15 kQ + 10% — B
Ry — OWM — 0,1 W — 620 kQ * 5%,

Ry2 — OWS — III — 0,25 — 100 kQ + 10% — B
Ry3 — OWM — 0,1 — W — 300 kQ * 5%
Ry — Opd — 2 W — 60 Q + 5% + 30Q + 5%,
Rys — OWM — 0,1 W — 1 MQ + 209



